A2 Gyakorlat
Miiszaki Menedzser szakos hallgatéknak

5-6. hét - Matrixok - Megoldasok

1. Feladat.
1 2 2 2
a) [ o b)<(1)(1]8> o [ 111
-1 3 3 3
. 5 7 9
d) nem értelmezett e) 8 f)
17 —-18 19

6
a) AV(B) b) v A=(10 -1 6)
6
1 -1 -1
c) vIAv =21 d) BA-AB=| 1 -2 -1
3 -6 1
12
e) BTA-2v=| 6 f) det(A) =3
30
/3 -1 1/3
g) det(AB) = —6 h) Al( 1/3 1 (2/3))
~(1/3) 2 —(1/3)
3. Feladat.
a) 36 b) —6 c)™0
d) 72 e) ab, haa=0vagy b=0 f) 202 —-1,haa==41/V2
4. Feladat.
5/2 -1 -3/2 /2 1 —1/2
a)<52 _12> b) 2 0o -1 |, ¢ -1 -1 1 ,
B -1/2 0 1/2 /2 -1 1/2

~1/6 —1/12 1/6  1/12
2/3  —2/3 —1/6 1/6

d) -1/6  1/12 1/6 —1/12
2/3 2/3 —-1/6 —-1/6
5. Feladat.

a) 2 b) 3 c) 3 d) 2






